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Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.

[PART A: Grammar & Vocabulary ]

61- Child laborers in urban areas make more money; the children in rural ones, ... , earn less.
1) while 2) whereas
3) although 4) however
62- Astronauts— people who travel in deep space in a spaceship— have to put on special ... themselves
from dangerous rays.
1) for suits to protect 2) so as for suits to protect
3) in order for suits to protect 4) suits so that they can protect
63- The young man was not willing to attend the party, so he welcomed his friends with a(n) ... smile
on his face.
1) artificial 2) sudden 3) polite 4) real
64- The new application is the best solution for the public transportation problems. I am willing to
know the ... of this creative idea.
1) researcher 2) member 3) pioneer 4) inventor
65- When you want to choose a suitable job, you should consider many factors, but the most
important feature is its financial ... .
1) base 2) pressure 3) cost 4) influence
66- The government is expected to take serious actions against children labor, including creating ...
opportunities in different fields such as trade, agriculture and industry.
1) employment 2) development 3) improvement 4) encouragement
67- Doctors firmly believe that taking ... actions including weight loss, balanced diet and regular
exercise is the best way to overcome chronic diseases.

1) imperative 2) protective 3) preventive 4) active

OlalS Cun o (Sadind g Ozl e (line LS 4y dorgi s g 0uaS 4y 320 ookl ODezr s 1y Jlgws dlaz o 55lg SVI5us 4y 02 0K50uly (sl a
ales sl | gl &3




b2y

s
8 U
”‘u"%

10 sdmio (90U 3 9 (29%5) pod pUA (0908 QA il YF 099037 -(8) 833 9

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on
your answer sheet.

Through space explorations humans have learned a great deal about the planets, stars and other
...(68)... in space. More than 5,000 spacecrafts have been launched into space ...(69)... gather
information since 1957. They include spacecrafts with humans on board, space probes and satellites.
A human traveler first ...(70)... space in 1961. In that year the Soviet cosmonaut Yuri Gagarin
orbited the Earth in a spacecraft. On July 20, 1969, the U.S. ...(71)... , Neil Armstrong and Edwin
Aldrin, became the first humans on the Moon.

Thanks to modern technology, places where no people have gone can still be explored.
Unmanned spacecraft ...(72)... by radio. These space probes can travel deep into space without

having to return.

68-1) objects 2) vehicles 3) unions 4) transfers
69-1) while 2) so that 3) since 4)soasto
70-1) survived 2) explored 3) surrounded 4) predicted
71-1) missions 2) laborers 3) experiments 4) astronauts
72-1) evaluate 2) estimate 3) function 4) magnify

PART C: Reading Comprehension
Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Passage 1

Black holes are one of the most mysterious and powerful forces in the universe. A black hole is
where gravity has become so strong that nothing around it can escape, not even light. Black holes
differ from each other in mass and their spin. Other than that, they are all very similar. We can’t
actually see black holes because they don’t reflect light, but scientists know they exist by observing
light and objects around them.

Black holes are formed when giant stars explode at the end of their lifecycle. This explosion is
called a “supernova”. If the star has enough mass, it will collapse on itself down to a very small size.
Due to its small size and enormous mass, the gravity will be so strong that it will absorb light and
become a black hole. Black holes can grow incredibly huge as they continue to absorb light and mass
around them. They can even absorb other stars. Many scientists think that there are supermassive
black holes at the center of galaxies.

The idea of the black hole was first suggested by two different scientists in the 18" century: John
Michell and Pierre—Simon Laplace. In 1967, a physicist named John Archibald Wheeler came up

with the term “black hole”.
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73- What does the second paragraph mainly discuss?

1) What is a black hole? 2) Where are black holes located?

3) Who discovered the black hole? 4) How do black holes come to existence?
74- The passage points out that black holes are inescapable because ... .

1) they don’t reflect light at all

2) there are no objects around them

3) they can even absorb other stars

4) their pull of gravity is too strong
75- What does the underlined word “them” in paragraph one refer to?

1) mass and spin 2) black holes 3) scientists 4) objects
76- Which of the following statements is NOT true?

1) Black holes are alike except for their mass and spin.

2) The idea of the black hole dates back to the second half of the 20™ century.

3) Black holes are born when very massive stars explode in supernova.

4) Although black holes cannot be seen, we know they exist.

Passage 2

The Sun is the hottest object in our solar system. It is about 93 million miles from the Earth. Our
sun has been making heat and light since it formed 4.5 billion years ago. It does that by changing
hydrogen into another element, helium. It takes a beam of light eight minutes to travel from the
surface of the Sun to the Earth.

From the Earth, our Sun looks like a round yellow ball in the sky. The Sun looks as if it never
changes. But it is really a boilling, seething ball of gas that’s always changing. Heat from the center
of the Sun slowly bubbles to the surface. The Sun’s surface looks like a rapidly boilling pot of water.
The temperature at the surface is about 7,000 degrees Fahrenheit.

Streams of gas, called flares, can explode from the Sun’s surface. Those streams of gas soar
through space and sometimes collide with Earth’s atmosphere.

Sunspots are storms on the Sun. They look dark because they are cooler than the surrounding
surface. Each sunspot, however, is very hot—about 5,000 degrees Fahrenheit. When gases from the
Sun reach the Earth’s atmosphere, they cause the atmosphere to glow. The glowing lights are called
an “aurora”. Auroras are usually seen when the Sun is active.

77- What is the main purpose of the passage?
1) To calculate the temperature of the Sun
2) To list all the steps in the formation of auroras
3) To inform readers about the Sun
4) To explain how light travels between the Sun and the Earth

78- The underlined word “beam” in the first paragraph is closest in meaning to ... .

1) board 2) piece 3) bar 4) ray
79- If the Sun burned out, how long would it take people on the Earth to notice?
1) eight minutes 2) 193 years 3) a millennium 4) unknown

80- Which of the following sentences is NOT true?
1) Some parts of the Sun are hotter than other ones.
2) The light is produced by the transformation of an element to another one.
3) Aurora is a glowing light which is made by Sun gases entering atmosphere.
4) Flares can explode from the Earth’s surface.
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